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Il Semester B.Com. Examination, April/May 2012
(Repeaters) (Prior to 2011 — 12)
COMMERCE
Business Statistics

Time : 3 Hours Max. Marks : 90

Instruction: Answers should be written fully in English or in Kannada.
SECTION-A

Answerany ten sub-questions from the following. Each sub-question carries2 marks.
(2x10=20)
1. a) Mention the types of averages.
b) Define index numbers.
c) What is rank correlation ?

i

d) Whatis probable error ?

e) What do you mean by median ?

f) Define standard deviation.

g) FindC.V. when x = 56 variance = 144 and N = 60.

h) Mention the methods of calculating consumer price index numbers.
i) What is regression ?

j) State the types of correlation.

k) State any four functions of statistics.

l) When do you say correlation is positive ?

SECTION-B
Answerany 5 questions. Each question carries 5 marks. (5x5=25)

2. Calculate quartile deviation from the following data :

A

Monthly income (in ¥) |[0-10|10-20|20-30 | 30-40 [40- 50| 50 - 60

k]

No. of persons 8 22 30 50 28 22

P.T.O.
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3. Find the mean and median from the following :

Central size 515 |25(35]|45]55 |65
Frequency 101 20 |18 3725|3020

4. In a class of 50 students, 10 have failed and their average marks is 15. Total
marks scored by the entire class was 2150. Find the average of those who have
passed.

5. Find the missing frequency when x =30 .5

Marks 10|20 | 30 | 40 | 50

No. of
| Students o Bl L e
: 6. From the following information find £
. i) Which of the factory pays larger wage bill ?
- ii) Which factory wages are more variable ? T
> Factory A |Factory B
. Number of wage eamers 250 200
- X wages (%) 40 45
Variance 100 225

7. From the following data :
a) Calculate the regression equation Xon'Y.

b) Estimate the value of X when'Y = 40.

X [20]124 26|34 |36
Y |[10|12 14|18 |26
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8. Find modal value by grouping and analysis task method.

Weight in Kgs. 59 | 60 | 61 62 | 63 | 64 | 65 | 66

No. of Students 4 12 .24 | 321 32.]1 .16 8 2
9. Find S.D. from the following data :

Salary in (3) 0-10|10-20|20-30|30-40|40-50|50-60]60-70

No. of employees 1z 13 20 25 30 15 20

SECTION-C

Answer any three questions from this Section. Each question carries 15 marks.

(3%x15=45)

40. From the data given below, construct index number of the group of four

commodities by using fishers ideal formula. Show it how it satisfies both the

tests.
Ul UG -~ = o o
Base year (price) 20 | 40 | 10 | 50
Base year (expenditure) 400 | 160 | 100 | 250
Current year (price) 50 | 80 | 20 | 100
Current year Expenditure 750 | 400 | 240 | 600

and median =45.

11. From the following distribution find out two missing frequencies, when N = 80

Marks

0-10

10 -

20

20 - 30

30 - 40

40 -

50

50 -

60

60 - 70

Students

3

15

10
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12. From the following task find correlation coefficient between age and playing habits

of students.
Age (in years) 15116 | 1771 18191 20
No. of students | 250 | 200 | 150 | 120 | 100 | 80
Regular players | 200|150 | 90 | 48 | 30 | 12

13. Find modal value based on median and mean from the following data :

Age (in years) :

10

-19|20-29

30 -39

40 - 49|50 - 59

60 - 69

No. of persons :

18

22

27

13

20

40

14. Find from the following the most consistent batsman and better run getter.

Batsman A | 5

16 | 27

39

53 | 56 | 61

80

101 [ 105

Batsman B | 0

16 | 21

41

4315778

83

90|95
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